
A40 Installation Guide
Version 1.0

Update 20190128



E 

M3 x 8mm
for standoff

SCREWS LIST
A B C D

F G H I

M3.5 x 8mm
for Power Switch, 
3.5" HDD

Screws for Fan M3 Nuts
with M3x8mm for 
Aluminum Frame

M4 x 8mm
for GPU, Aluminum 
Frame

M3 x 8mm 
with M3 nuts for Aluminum 
Frame,2.5” SSD

M3 x 5mm
for Motherboard, 
PCIe

M3 x 6mm
for fan grill

*The images is for reference only; actual placement for the screws are based on the real product.

2X 5mm standoff
2X 25mm standoff
4X 40mm standoff



Aluminum 
Frame 

Installation

Please read the “Aluminum Frame 
installation”before assembling this case

Screw

Nut

Acrylic 
Panel



OVERVIEW Top Panel Fan Grill

Rear Panel

Left Panel

Right Panel

Bottom Cover4x Foot Pad

Front Panel

Power Switch

Front I/O Module

Right Bracket

Upper Left Bracket

Lower Left Bracket

Front HDD 
Bracket

6x Aluminum Frame 
- Long Ones( 250mm)

1x Aluminum Frame-
Short Ones (235mm)



E  4X

G  2X

40mm 4X

25mm 2X

G

G

E

E

E

E

STEP 01 Upper Left & Lower Left Bracket Installation

Please make sure the distance from 
the edge of the holes on the PICE 
riser before insatlling the 25mm GPU 
standoffs.



STEP 02 Upper Left & Lower Left Bracket Installation

G  8X

D  8X

260mm

235mm

250mm

250mm



D  4XG  4X

STEP 03 Right Bracket Installation

260mm

250mm

250mm



STEP 04 Rear Panel Installation

F  5X



STEP 05 Bottom Cover & Foot Pad 
Installation

D  4X

G  4X

I  4X



STEP 06 Power Supply Installation

B  4X



STEP 07 2.5”HDD Installation

G  4X

G  3X



STEP 08 PCI-e Extension Cable Installation 
(Optional Purchase)

H  2X

PCI-e Extension Cable 
(Optional Purchase) 



STEP 09 Motherboard Installation

H  4X



STEP 10 Front 2.5”HDD Installation

G  4X

G  2X

D  2X



STEP 11 GPU Card Installation

F  2X



STEP 12 Fan & Fan Grill Installation

C  8X

I  4X



STEP 13 Top Panel Installation

D  4X

G  4X



STEP 14 Power Switch and Front Panel 
Installation

H  2X

Front I/O

Power SwitchFront Panel



STEP 15 Front Panel Installation

F  4X

G  2X D  2X



STEP 16 Side Panel Installation

G  8X

D  8X


